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In(Mean time) vs Nal deposit energy (for nuclear recoils)
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Nuclear recoil
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Compton event and Efficiency calculation
*Cosine data (with Co60)

Spectrum of Compton events in different cut
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Boosted

Decision Tree
(BDT)

As the iteration goes on, the
weights on the previous event
sample are updated and the
subsequent learner is trained
on the weighted data set.

Eventually, a single classifier
is obtained by combining the
weak hypotheses with
corresponding weights.

¢, <Simple 2-D toy example>
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Nuclear recoil

005 051 [ 115 [ 15-2 | 2-25 | 25-3 | 3-35 | 35-4 | 4-45 | 455

asym 0.797 0821 0.882 0919
x1-x2 0176 0.762 0940 0.993
Both 0.161 0665 0.846 00917

Electron recoil

0977 0990 0991 0989 1.000
1.000 0997 1.000 0.998 1.000
0977 0986 0991 0989 1.000

005 051 [ 115 | 15-2 | 2-25 | 25-3 | 3-35 | 35-4 | 4-45 | 455

asym 0832 0684 0.825 0.895
x1-x2 0019 0344 0.729 0.912
Both 0.0l16 0.288 0.654 0.836

0953 0958 0978 0981 0.984
0977 0982 0992 0986 0.989
0937 0947 0975 0975 0.976



Charge asymmstry
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Charge asymmstry
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Event selection for electron recoil events (Cs137 source, ~15 Hz)
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Nal deposit energy vs mean time
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